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Unit 5: Chemical Bonding Name K e Pd
Covalent Bonds and Polarity \_Qy
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1. What does it mean to say a bond is polar?
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2. How does a polar covalent bond differ from a nonpolar covalent bond?
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How do electronegativity values help us determine the type of bond created? ‘
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4. For each of the following molecules, determine if it is non-polar covalent, polar covalent, or jonic. Show your
work by listing the electronegativities of each element in the bond.
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5. For each of the following sets of elements, identify the element expected to be most electronegative (EN) and
which is expected to be least electronegative (EN).

a. K Sc,'Ca most EN= SC- least EN= K

b. Br,F At most EN= F least EN= a-h

c. CO,N most EN= ____CL__ least EN=_C'__




7. The bonds between the following pairs of elements are covalent. Arrange them according to polarity, naming
the most polar bond first.
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Using the table of electronegativities from your Periodic table, calculate the EN difference for the atoms that
are bonded in the following molecules. Then tell whether the bond is nonpolar covalent, polar covalent, or
ionic. Tell which atom has the greater share of the bonding electrons. In your drawing, show which atom is
partially positive or partially negative and draw the bond dipoles.
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What questions do you still have about bond polarity?



